
P.T.O.

(  1  )

B.Com. Honours Examinations 2022
(Under CBCS Pattern)

Semester - IV
Subject: ACCOUNTING AND FINANCE

Paper: C-9 T

(Business Mathematics)

Candiates are required to give their answer in their own
words as far as practicable.

The figures in the margin indicate full marks.

Question Paper

VIDYASAGAR UNIVERSITY

1. Answer any four from the following questions : 5×4=20

(a) A bank offers to pay back Rs.20,000 after 10 years on a fixed deposit of Rs.9,000.

What rate of interest is it offering? Given that the bank is offering 6 monthly compound

interest.

(b) Let 
1 1 2

2 1 0
A

 
  
 

 and 

1 3

2 0

1 1

B

 
   
  

.

Evaluate AB and then (AB)T; verify  T T TAB B A  .

Full Marks : 40

Time : 2 Hours
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(c) Solve the following problem using graphical method :

1 2Max 40 80z x x 
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(d) If   px q
y f x

rx p


 


, then show that  f y x .

(e) Show that the maximum value of 3

3 1
x

x   is less than its minimum value.

(f) Evaluate : (i) 
 2

log

1 log

x
dx

x , (ii) 
 3
2 x

dx
x


 .

2. Answer any two from the following questions : 10×2=20

(a) (i) Without expanding the determinant prove that :

0

0 0

0

a b

a c

b c

 
 

.

(ii) For the Matrix 

2 5 3

3 1 2

1 2 1

A

 
   
  

, find Adj A and A–1.

(b) (i) A machine costs the company Rs.97,000 and its effective life is estimated to be 12

years. If the scrap realises Rs.2,000 only, what amount should be retained out of

profits at the end of each year to accumulate at C-I at 5% p.a. to replace the

machine at the end of its life.
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(ii) Examine continuity of the function :

 
2 3 when 0

2 when 0 at 0

2 3 when 0

x x

g x x x

x x

 
  
  

.

(c) (i) Evaluate : (x) 
2

2

3 4 6
lim

6 7x

x x

x x

 
 

, (y) lim
x a

x a

x a




.

(ii) A firm produces x tonnes of valuable metal per month at a total cost c given by :

 3 21
3Rs. 5 75 10c x x x    . Find at what level of output the marginal cost

attains its minimum.

(d) (i) If 
2 2x y

z
x y




, prove that 3
z z

x y z
x y

 
 

 
.

(ii) Find 
dy

dx
; when 1y xx y  .

(iii) Evaluate : 
 2

log

1 log

x
dx

x .

× =

9,000 10 20,000

6
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AB (AB)T

 T T TAB B A 
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1 2Max 40 80z x x 
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  px q
y f x

rx p


 


 f y x

3

3 1
x

x 

(i) 
 2

log

1 log

x
dx

x , (ii) 
 3
2 x

dx
x




× =

0

0 0

0

a b

a c

b c

 
 

2 5 3

3 1 2

1 2 1

A

 
   
  

Matrix Adj A A–1

97,000

12 2,000

5%

x = 0

 
2 3 when 0

2 when 0 at 0

2 3 when 0

x x

g x x x

x x

 
  
  
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(i) 
2

2

3 4 6
lim

6 7x

x x

x x

 
 

, (ii) lim
x a

x a

x a




x

 3 21
3Rs. 5 75 10c x x x   

2 2x y
z

x y



3

z z
x y z

x y

 
 

 

dy

dx
1y xx y 

 2

log

1 log

x
dx

x
____________


